
Year 1 Worksheet 4: Place Value

Question 1: Write correct tens and ones for the numbers.

2 tens and 8 ones = 28 __ tens and __ ones = 36

__ tens and __ ones = 65 __ tens and __ ones = 75

__ tens and __ ones = 35 __ tens and __ ones = 86

__ tens and __ ones = 50 __ tens and __ ones = 46

__ tens and __ ones = 06 __ tens and __ ones = 66

__ tens and __ ones = 86 __ tens and __ ones = 95

__ tens and __ ones = 09 __ tens and __ ones = 59
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Question 2: Write each number in normal form.

90 + 4 94

70 + 5

30 + 4

70 + 2

40 + 4

00 + 9

50 + 0

40 + 4

50 + 3

30 + 5

70 + 9

00 + 3

90 + 9

20 + 2

00 + 5

10 + 6

10 + 5

70 + 4
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Question 3: Write the number in expanded form.

45 = 4 x 10 + 5

62 =

94 =

48 =

89 =

74 =

07 =

50 =

90 =

01 =
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Question 4: Find the missing number.

40 + ___ = 40 ___ + 6 =56

____ + 9 = 59 ___ + 4 = 94

____ + 1 = 71 50 + ___ = 59

____ + 7 = 87 40 + ___ = 40

____ + 3 = 83 ____ + 9 = 09

70 + ___ = 70 ____ + 1 = 71

90 + ___ = 98 30 + ___ = 33
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Answer Key

Question 1: Write correct tens and ones for the numbers.

2 tens and 8 ones = 28 3 tens and 6 ones = 36

6 tens and 5 ones = 65 7 tens and 5 ones = 75

3 tens and 5 ones = 35 8 tens and 6 ones = 86

5 tens and 0 ones = 50 4 tens and 6 ones = 46

0 tens and 6 ones = 06 6 tens and 6 ones = 66

8 tens and 6 ones = 86 9 tens and 5 ones = 95

0 tens and 9 ones = 09 5 tens and 9 ones = 59
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Question 2: Write each number in normal form.

90 + 4 94

70 + 5 75

30 + 4 34

70 + 2 72

40 + 4 44

00 + 9 09

50 + 0 50

40 + 4 44

50 + 3 53

30 + 5 35

70 + 9 75

00 + 3 03

90 + 9 99

20 + 2 22

00 + 5 05

10 + 6 16

10 + 5 15

70 + 4 74
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Question 3: Write the number in expanded form.

45 = 4 x 10 + 5

62 = 6 x 10 + 2

94 = 9 x 10 + 4

48 = 4 x 10 + 8

89 = 8 x 10 + 9

74 = 7 x 10 + 4

07 = 0 x 10 + 7

50 = 5 x 10 + 0

90 = 9 x 10 + 0

01 = 0 x 10 + 1
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Question 4: Find the missing number.

40 + 0 = 40 50 + 6 =56

50 + 9 = 59 90 + 4 = 94

70 + 1 = 71 50 + 9 = 59

80 + 7 = 87 40 + 0 = 40

80 + 3 = 83 0 + 9 = 09

70 + 0 = 70 70 + 1 = 71

90 + 8 = 98 30 + 3 = 33
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